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The frequency of the node produced by plucking a given string increases as
(a)  The length of the string increases

(b)  The tension in the string increases

(c)  The tension in the string decreases

(d)  The mass per unit length of the string increases

SSF JAMIA MILLIA ISLAMIA
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Doppler's effect is applicable for
(a) Sound Wave (b) Space wave

(c) Water wave (d) Heat wave

Which of the following statements is correct for any thermodynamic system?
(a) The internal energy changes in all processes.

(b) Internal energy and entropy are state functions.

(c) The change in entropy can never be zero.

(d) The work done in an adiabatic process is always zero.

What is value of C,/C, for air?
(a) 1 (b) 1.2

(c) 1.4 (d 2

(3
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Nt heat of steam at atmospheric pressure is

(@) 1535 kl/kg (b) 1875 kJ/kg

(©) 2257 kykg (d) 2685 kJ/kg

6
I coulomb is equal to:
(@) 3x10"es.u. (b) 13x10%e.s.u.
(©) 3x10"es.u. (d 13x10"es.u.
7 The capacitance of earth, viewed as a spherical conductor of radius 6408 km is
(a) 1420 pF (b) 712 uF
(¢c) 680 puF (d) 540 pF
8 Given three equal resistors, how many different combinations (taken all of them
together) can be made?
(a) 3 (b) 4
() 5 (d 6
SSF JAMIA MILLIA ISLAMIA
N\ Jelr
9 Ohm's law is valid when the temperature of conductor is
(a) Very low (b) Very high

(c) Varying (d) Constant

(4]
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10" Two wires of Copper are of the same length but have different diameters. When

they are connected in series across a battery, the heat generated is H; .When

connected in parallel across the same battery, the heat generated during the same

time is H, then

Q( "_:J' I
(@ H,=H, b) H,<H
(b) 1 2 __l:_/‘_..q_
2 HeH (d) H,>H
/

11~ Why is the Wheatstone bridge more accurate than other methods of measuring

resistances:

(a)  Itis anull method | (b) It is based on Kirchhoff's laws

(¢) It has four resistances (d) It does not involve ohm's law
12

The strength of the magnetic field around an infinite current carrying conductor
is

SSF JAMIA MILLIA ISLAMIA
(a) Same everywhere New Delk

(b) Inversely proportional to the distance

(c) Directly proportional to the distance

(d) None of these

13 In a moving coil galvanometer, we use a radial magnetic field so that the

galvanometer scale is

(a) Exponential (b) Linear
(¢) Algebraic (d) Logarithmic
(5]
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14
Max . @ e . T
Well's €Quation involving is == B obtained-from:

(a)

Ampere's law (b) Gauss's law

()

Farada_\-'s law (d) Biot-Savart's law

15
The angle of deviation for a prism is greatest for
(@) Violet (b) Red
(€)  Orange (d) Yellow

16 In Young double slit experiment, a minimum is obtained when the phase

difference of the superposing waves, is (n € I)

{8) mm (b) (n+1/2)=
(c) @n-D=n (d) zero
SSF JAMIA M".UA_'SLAM'A
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17 Semiconductors of both p-type and n-type are produced by

(a) Ionic solids ‘/(fb‘)/ Covalent solids

(c) Metallic solids (d) Molecular solids

18  According to the special theory of relativity, clocks in a moving reference frame,
compared to identical clocks in a stationary reference frame, appear to run
a) Slower b) At the same rate

c)  Faster d) Backward in time

(6]
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19~ The magnetic quantum number specifies
(a)  Size of orbital (b)  Shape of orbital

(€) Orientation of orbijta] (d)  Nuclear Stability

20 Which of the following statements does not form a part of Bohr's mode| of
hydrogen atom?
(@) Energy of the electrons in the orbit is quantized
(b)  The electron in the orbit nearest the nucleus has the lowest energy
(¢)  Electrons revolve in different orbits around the nucleus

(d) The position and velocity of the electrons in the orbit cannot be det’e:mined

simultaneously SSF JAMIA MILLIA ISLAMIA at
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21 The electronic configuration of an element is 1s?, 2s2 2p°, 3s? 3p’. What is the

atomic .-number of the element which is Just below the above element in the

periodic table

(a) 31 (b) 34
&L 5
(c) 33 (d) 49 Q@ =
2 o
22 The hybrid state of sulphur in S0, molecule is o= 52
(a) sp’ (b) sp’ =
R

, R (R 4
\(9’ spd 'L@ &Bf
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: i in rapj
The theory which explains that gases consist of molecules, which are In rapid

Option is known as
(@) " Daltons Atomic Theory

(®)  Bohr's Theory

(¢)  Rutherfords Atomic Theory

(d)  Kinetic Molecular Theory

In a reversible process the system absorbs 600 kJ heat and performs 250 kJ work
on the surroundings. What is the increase in the internal energy of the system?
(a) 850KkJ (b) 600KkJ

(c) 350KkJ (d 250KkJ

25 The enthalpies of combustion of carbon and carbon monoxide are -393.5 and -

283.0 kJ mol' respectively. The enthalpy of formation of carbon monoxide is

(a) -676KkJ (b) 110.5Kk) 2L
(c) -110.5KkJ (d) 676.5Kk]
SSF JAMIA MILI.IA_ ISLAMIA
26  What is the pH of a 0.10 M solution of barium hydroxide, Ba (OH),?
/‘
(a) 11.31 by 11.7 ~
" (¢)  13.30 (d) None of these
< r Z -
Ba(6H), . 0 -f-ZC‘—P?’ NG
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> N ey : 3 . . .
<7 Concentration of the Ag* ions in a saturated solution of Ag,C;0,4 is 2.2 x 107 mol

I.”'. Solubility product of Ag,(C,0,is

(a) 2.66x10-12 (b) 4.5x10-11

(¢) 5.3x10-12 (d) 2.42x10-8

Prn+Por =1y |06
P 4+ 0¥

28 How many lithium atoms are present in a unit cell with edge length 3.5 & 54

: 3 S
density 0.53 g cm™? (Atomic mass of Lj = 6.94): — y X <5
(a) 2 (b) 1
() 4 d 6

SSF JAMIA MILI.IA_ ISLAMIA
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29 In a Schottky defect
(a)  Anion moves to interstitial position between the lattice points
(b)  Electrons are trapped in a lattice site

(c) Some lattice sites are vacant

(d) Some extra cations are present in interstitial space_

30 The law which indicates the relationship between solubility of a gas in liquid and
pressure
(a) Raoult's law . (b)/ Henry's law

(c) Lowering of vapour pressure (d)  Van't Hoff law

(9]
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3 e 0 g of C,
v o i d to roduc 10 a
31 How much electricity in in terms of Far aday 18 require P

from molten CaCl,?
(a) ¥ ® "

©  aF () SF

The chemical reaction, 20:;—30; proceeds as
0:.0, + | O] (fast)
| O| + 0;—20: (slow)

The rate law expression will be

(a) Rate =k [O] [Os] (b) Rate = k [O05]” [0:]""
(c) Rate=k[O5]) (d) Rate=k [0:][O]
SSF JAMIA MILLIA ISLAMIA
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33 Foginan example of colloidal system of
(a) Liquid in gas (b)-— Gas in liquid
- — v
(c) Solid in gas (d) Gasin solid

34  Half-life period of a first order reaction is 10 min. What percentage of the
reaction will be completed in 100 min?
(a) 25% (b) 50%
(c) 99.9% d) 75%

B39 SET -C e
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now on roads particularly in

» ing s
3¢ Usually. CaCl2 is preferred over NaC'l for cleaning

very cold countries this is because
ry but C'aC12 does not

NaCl makes the road slippe

(a)
(b)  CaCl2 is hygroscopic but NaCl is not
(¢) CaCb is less soluble in H20 than NaCl
ile that of N
(d) Eutectic mixture of CaCl/H20 freezes at -55°C while aCl/H2¢

freezes at -18°C

The freezing point of heavy water is

36
(a) 0°C (b) 3.8°C
(c) 4°C (d) 1°C
37  In general, the Boron trihalides act as

(a) Strong reducing agent (b) Lewis Acids
(c) Lewis Bases (d) Dehydrating Agents

SSF JAMIA MILLIA ISLAMIA
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38  Atomicity of phosphorus is
@ 1 7 L (b) 2
(c) 3 (d)~ 4
L —

The melting points of Cu, Ag and Au follow the order

39
(b)) Cu>Au>Ag .

(a) Cu>Ag>Au
(d) Ag>Au>Cu

(c) Au>Ag>Cu

(11]
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w0 Which of the following types of glass accounts for about 90% of manufactureq

glass?
(@) Potash-lime glass (b)  Sodi-lime glass
(©)  Potash-lead glass (d) Soda-lead glass
4] The thermo plastics resins are usually soluble in
(@)  Organic solvents h . (b) only in some organic solvents
(¢)  Polar solvents . (d) only in water
42 Which of these chemicals is used to dissolve the soap to make a transparen
soap?
(a) Ethanoic Acid (b) Ethanol
(c) Benzene (d) Propylene
|
43  The ligand N (CH2CH2NH2) is : vHh
(a) Bidentate ' (b) Tridentate
(c) Tetradentate (d) Pentadentate

44  Inductive effect inyph(ei
(a) [Sisplacement of_ c electrons
(b) Delocalization of &t electrons’
(c) Delocalization of c-electrons

(d) Displacement of nt-electrons

(12]
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45 Which of the following compounds will exhibit geometrical isomerism?

(a) 1 -Phenyl - 2.butene (b)  3- Phenyl - | - butene
_ (¢) 2 -Phenyl - 1 - butane (d) 1. 1 - Diphenyl — propene
AN )
46 Which of the following reactions follows Ma‘rkovnikov's rulf'-’ ¢
(a) CT:H_, + HBr (b) C;Hs+Clg

(¢) C:Hs<+ HBr (d) C;Hs + Br
< s .

will produce
(a) Primary alcohol (b) Secondary alcohol

(c) Tertiary alcohol - (d) Carboxylic acid

LLIA ISLAMIA

A

SSF JAMIA M|

48 Which among the following is most reactive to give nucleophilic addition?
(a) FCH,CHO AHZCHO

(c) BrCH,CHO (d) ICH,CHO

49  Primary, secondary and tertiary amines may be separated by using
(a) lodoform (b) Diethyl oxalate

(c) Benzene sulphonyl chloride (d) Acetyl chloride

(13]

r

\

47  Propanone on reaction with alkyl magnesium bromide followed by hydrolysis
};39 SET -C Entrance Examination - 2021 - 22



50 Th
(a)

e .
"Caction 1 ; form in the presen f N :
etween phenol and chlorolo ce of aqueous NaOH ;
—ls
Nucleophilic substitution reaction
(b) Electrophilic addition reaction

(c) Flcctrophil ic substitution reaction

B Nucleophilic addition reaction

S The coal tar fraction which contains phenol is
(@) Heavy Oil (b) Light Oil
(c) Middle Oil (d)  Green Ojl
SSF JAMIA MILI.IA_ ISLAMIA S——
52 IfA.Band C are any three sets, then A x (B u C) is equal to
(a (AxB)u(AxC) (®) (Au8)x(AuCQ)
(c) None of these (d (AxB)N(AxC)

53  Let the function 'f' be defined by f (x) = 5x>+ 2 V¥ x € R, then 'f' is
(a) Onto function (b) One-one, onto function

(c) One-one, into function (d) Many-one into function

54  If1/(b+c), 1/(c +a), 1/ (a+b) are in AP then
(@) a,b,carein AP (b) a’, b*, ¢’ arein AP
() 1/1, 1/b, 1/c are in AP (d) none of these

(14] )
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55  The third term of'a geometric progression is 4. The product of the first five terms
is

(c) 44 (d) none of these

56  Four dice are rolled. The number of possible outcomes in which at least one djce

shows 2 is
(a) 1296 (b) 671
(¢) 625 (d) 585

57  The number of combination of n distinct objects taken r at a time be X is given by

@ " (b) ™Cum;
(c) "C . (d) " .
SSF JAMIA MILLIA ISLAMIA
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58 In the binomial expansion of (a + b)", the coefficient of fourth and thirteenth
terms are equal to each other, then the value of n is
(a) 10 (b) 15

(c) 20 d) 25

59  In the expansion of (a + b) n. if n is odd then the number of middle term is/are

(a o0 (b) 1
(c) 2 (d) More than 2

[15]
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65 Two lines a;x + biy + ¢, =0and a)x + by + ¢, = 0 are coincident if
(a) a/a, = b,/b, # c/c, (b) a,/a, #b,/b, = c/cs

(c) ai/a; #bi/b; # ¢//c, (d) a)/a,=bl/b2 = c/c2

66 If the length of the tangent from the origin to the circle centered at (2, 3) is 2 thep

the equation of the circle is

@ (x+2) 4+ (y-3) = 32 (®)  (x-2)+(y+3)’=3
© -2 °+(y-37=3 ) (x+2)+(y+3)'=32
SSF JAMIA MILLIA ISLAMIA
67 The equation of parabola with vertex at origin the axis is along x-axis and passing
through the point (2, 3) is ’ ‘/7 gax
(a) y>=09x (b) y> =9x/2 \/L., FJaAa N
(¢) Y =2x (b) y*=2x/9
(a ,0)
68 Three planesx +y =0,y +z=0,and x +z= 0 o
L — ] =0
(a) noneofthese *-17¢ = & R \_j =) ) - D
a) e = , o - ? CD -
(b)  meetinaline > T - ) i B - \
’ p

B ™ 2

(c)  meet in a unique point

(d)  meet taken two at a time in parallel lines

et e —

(17] An e!)
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Tha « - o % iz through (5. 1. 6) and
' € Coordinates of the point where the IIn€ =
e YZ plane
(b) (0, -1772, -1372)
{2) ‘(J ‘-:‘ "{ :,
. (d) None of these
(€) (0,1772.-13/2)

If a x cos x + bx ©o8

() =

‘a’ a: 2 b: &
= - IS
. - (d)y a"+=b " -c
SSF JAMIA MILLIA ISLAMIA
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57 If3tan’ x ~cot x ==, then x equals
@ O (b) 1
c) -1 (dy »
- | == i =
l 2 -1 4 ] B B
72 The|1 0 —5| = |- 2 S
& -4 5 7 -C 7
q
(z2) Diagonal matrix (b) symmetric matrix
(c) Skew symmetric matrix (d) none of these
b%c? bc b+c
73 The value of determinant |[c2g? ca c+a
& a’b? ab a+b
(a) a +b +c¢ (b) (a+b+c)
(c) (a2+b2+c2)(a’+b’+c5) (dy 0
(18]
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74  If wis a non-real root of the equation x’ - | = (). Then

1 @ w?
w w? 1

(L)z 1 «@
(a) O (b) 1
(C) w (d) 0)2

75_ If A, B and C are angles of a triangle, then the determinant

1 cosC cosB
cosC -1 cosA
cosB cosA -1
(a) 0 (b) -1
() 1 (d) None of these

SSF JAMIA MILLIA ISLAMIA
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76 - [ sin™! xdx is equal to

(a) cos'x+C (b) xsin'x+1-x*+C
(¢) V1I-x* +C (d xsin'x-V1-x*+C
ke ==
e A
7 i e A=
(a) 1-log2 (b) 2
(c) 1+log2 (d) log2
14w (A
.‘- (19]
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7% Evalume | e ——dx

cosxl ) scoty )

« (
‘a’ lrmlm!om‘l’zmm)

« (
(b)  tog |secx -tan x| -2 1an(x/2) + C

(c) k,glyccx‘taﬂxl‘ZIznlz/Z)*(‘

(d) sone of these

mmafmcrcgjmbom;dedbythccirclcf‘ ~y2 =11is

79
(2) 2% sq. units (b) 7= sq. units
(c) 3 =sq. units (d) 4 = sq. units
SSF JAMIA MILLIA ISLAMIA
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g0 Ifx"yY" =(x+y)” 7, then dy/dx is equal to
(2) (x+y)/xy (b) =xy

(c) x/y (d)y y/x

gl Solution of differential equation xdy - ydx = O represents
(a) arectangular hyperbola
(b)  parabola whose vertex is at origin o1 -
,)' | — b | o~ s
(c)  straight line passing through origin

(d)  acircle whose centre is at origin

e * oy 120)
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g2 Integrating factor of the differential equation cos x (dy/dx) + y sinx = 1 1s
() CosX (b) tanx
(¢) secX (d) sinx

i L= . ) i i n the difference of
If the difference of mode and median of a data is 24, the

5
‘29

median and mean is
(a) 12 (by 24

(¢) 8 (d) 36

84  The coefTicient of variation is computed by

(a) S.D/.Mean x 100 (b) S.D./Mean
(¢) Mean./S.D x 100 (d) Mean/S.D.
SSF JAMIA MILLIA ISLAMIA
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85  Variance is independent of change of

(a) Origin only (b) scale only
(c) Origin and scale both (d) none of these
/\/ /
86  The dimensional formula for velocity is - Rt
A=

(a) [LT] (b) [LT" 1

\_/
(c) [L°T] (d) [L'T]

[21]
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87

A body starts from rest. If it travels with an acceleration of 2 m/s2, it.

v =
d‘splacemcm at the end of 3 seconds is = m).
@ om (by 12Zm ¢
() 16 m (d) - - %
aAx =
88 When do we get maximum height in a simple projectile motion?
(a) When© =45° (b) When © = 60°
(c) When © =90° (d) When©=0°
SSF JAMIA MILLIA ISLAMIA
A WAah
]9 When a body P moves on a circular path, the centripetal acceleration is
(a) Directed inwards from P, to the centre of the circle
(b) Directed tangential to the circumference of the circle, at P
(c¢) Directed perpendicular to the plane of the circle, at P
(d) Directed outward, perpendicular to the circumference of the circle
90 A block of wood is placed on a surface. A force is applied parallel to the surfac
to move the body. The frictional force developed acts
(a) Normal to the surface upwards
(b) Normal to the surface downwards
(c)  Along the direction of the applied force
(d)  Opposite to the direction of the applied force
]
B39 SET-C vl
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A body of mass 10 kg is initially at a height of 20 m above the ground. It falls to

a height of' S m above the pround. Its potential energy in the new position is

(@) 490 () 50

©) 1001 (d) 300 ) -
/\ \

1S move in an elliptical orbit around the carth. The mass of the

D

A satellite S
satellite is very small compared to the mass of the earth

(@) The acceleration of S is always directed towards the centre of the carth,

(b) The angular momentum of S about the centre of the earth changes in
direction, but its magnitude remains constant.

(¢)  The total mechanical energy of S varies periodically with time.

The linear momentum of S remains constant in magnitude.

SSF JAMIA MILLIA ISLAMIA
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(d)

For a body moving with simple harmonic motion, the number of cycles per

second, is known as its

(b) Amplitude

(3) Oscillation

(c) Periodic time (d) Frequency .

N

W en
(23]
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i .ing speed. Choose the correct
94 A i : th with decreasing speed.
particle moves on a circular pa

statement.

i onstant,
(a)  Angular momentum remains ¢

i ntre.
(b) Acceleration 18 towards the ce

(c) Particle moves on a spiral path with increasing radius.
c a

d The direction of angular momentum remains constant.
(d)

When two bodies collide elastically, then
(a) Kinetic energy of the system alone is conserved
(b) Only momentum is conserved

(c) Bothenergy and momentum are conserved

(d)  Neither energy nor momentum is conserved

96  The moment of inertia of a thin spherical shell is

(a) Mr'/2 (b) Mr
©) 2/3MP (d) 2/5Mr
SSF JAMIA MILLIA. ISLAMIA
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97  If a body is rotating about an axis, passing through its centre of mass then its
angular momentum is directed along its
(a) Radius (b) Tangent
(¢) Circumference (d) Axis of rotation

‘ 124)
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08 Two wires have the same material and length, but their masses are in the ration of

4:3. If they are stretched by the same force, their elongations will be in the ratj,

of
(@ 2:3 (b) 3:4
(c) 4:3 (d 9:16

SSF JAMIA MILLIA ISLAMIA
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99  The height of a liquid in a fine capillary tube
(a)  Increases with an increase in the density of a liquid
(b)  Decreases with a decrease in the diameter of the tube
(c)  Decreases with an increase in the surface tension

(d) Increases as the effective value of acceleration due to gravity is decreased

100  When a particle performing uniform circular motion of radius 10 cm undergoes

the SHM, what will be its amplitude?

(a) 10cm (b) Scm
(¢c) 2.5cm (d) 20cm
(25]
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